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Which of these expressions are equivalent to 5(4b – b)?

3(2b)b)

1)

10b + 5bc) 4(9b)d)15ba)

Which of these expressions are equivalent to 6(2n)?

4(3n)b)

2)

12nc) 6n + 6nd)8n – 1a)

Which of these expressions are equivalent to 2 + 5p + 2 + 5p?

2(5p + 2)b)

4)

6p + 4 + 4pc) 9pd)10p + 4a)

Which of these expressions are not equivalent to 10d – 4d?

6db)

5)

–4dc) 2(d + 1)d)11d – 5da)

Which of these expressions are equivalent to –4y + 8 + 7 – 5y?

–9y + 15b)

6)

5yc) –3(3y – 5)d)15 – 10y + ya)

d)

Which of these expressions are not equivalent to u + 1 + u + 1?

2(u + 1)b)

3)

2u + 2c) u + 6u3(4u + 5)a)
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